Worksheet: Limiting Reactants Name KEY

1. BALANCE the equation first. 4 FeClz + 3 Oz > 2Fe:03 + 6 Clz

a. How many moles of chlorine gas can be produced if 4 moles of FeCls react
with 4 moles of 0?2 SHOW ALL WORK!

6 mol CI
? mol Cl, = 4 wmolFe€l- x # =6 mol ClI,
motFeCt;

6 mol Clz
3 mol O~

2

? mol Cl, = 4 mol-6; X =8 mol CI,

b. What is the limiting reactant?
FeCls
c. What is the excess reactant?
0:
2. Use the following BALANCED equation.
2CHs + 702 > 4CO; + 6 H0

a. If 15 g of C2He react with 45 g of Oz, how many grams of water will be
produced?

1 mot-€-H—- o 6 motH56- » 18.0g H,0
30.0 e&H- 2 motEH—- 1 motH6

?gH,0=15 ¢ E€H- x =27gH,0

1 melO5- 6 moetH-0 18.0gH,O
?gH,0=45 g6 X 2 X I X I =122¢gH,0
8 7" 32050 Tmeto- 1 motHO

b. What is the limiting reactant?

0,
c. What is the excess reactant?

C,H,
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